RB—E_BF30m%

Rl 1EH8 3’% (=2 K4 & foE% |NEfL K4 = % B K4 & foE% |NEfL K4 = £k
1 |[AHFXRK N 1226 | 2 |EBER Fi% 1292 | 3 [RAKFH 7] 1326 | 4 [/NEXE KE 13.88
100m
5 |MEEN | 1388 | 6 [XIL#A E: 1392 | 7 8
1 |EAEX L3 43518 | 2 |[ARE— KE 44002 | 3 [REEE E& 45219 | 4 |AEMRLE 1i}:54 45359
1500m
5 |EBE FiF 45903 | 6 7 8
1 |EAEX L3 17.07.74| 2 |AEZ - 17.1253| 3 |ARiE— KE 172161 4 |RARERE L3k 18.56.56
5000m
5 |ZERE A F 21.34.34| 6 |;%JII&HH =1 23.24.15( 7 8
1 [/NEKRE KE 486 | 2 |ZEmEE Fix 466 | 3 |HEREKR | 4.61 4 [EFRK =H 457
EYNE
5 [ERAEE £H 45 6 [ MEE KE 437 7 |HHBEEN N 4.30 8 [RAFH )| 4.24
1 |HSAERE B 904 | 2 [EHFEX &H 765 | 3 |EREE Fix 755 | 4 |REAEE %5 1.51
i
5 |FREE KE 709 | 6 |=B# KE 6.3 7 |HER% | 566 | 8
1 2 3 4
5 6 7 8
1 2 3 4
5 6 7 8
1 2 3 4
5 6 7 8




